Supplementary Metarials
Figure 1S: Potential energy of the system as a function of minimization step by using Steepest Descent algorithm for solvated with 2906 water molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).
Figure 2S: System density as a function of time during NPT equilibration for solvated with 2906 water molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).
Figure 3S: The backbone RMSD of the dipeptide for solvated with 2906 water molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).during a 1 ns NPT production simulation.
Figure 4S: The radius of gyration of the system for solvated with 2906 water molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).
Figure 5S: The enthalpy of the system for solvated with 2906 water molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).during a 1 ns NPT production simulation.
Figure 6S.  System energies as a function of time during MD equilibration for solvated with 2906 water molecules and 10 ions (a, b, c), solvated with 1380 methanol molecules and 10 ions (d, e, f).
Fig. 7S. Schematic Hydrogen bonding (yellow) for the docked conformation of active site of title compound with THR88.
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Figure 2S: System density as a function of time during NPT equilibration for solvated with 2906 water
molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).
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Figure 18: Potential energy of the system as a function of minimization step by using Steepest Descent algorithm for
solvated with 2906 water molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).
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Figure 6S. System energies as a function of time during MD equilibration for solvated with 2906 water molecules and 10 ions (a, b, ¢), solvated with 1380 methanol molecules and
10 ions (d, e, f).
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Figure 5S: The enthalpy of the system for solvated with 2906 water molecules and 10 ions (a), solvated with 1380

methanol molecules and 10 ions (b).during a 1 ns NPT production simulation.
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Figure 4S: The radius of gyration of the system for solvated with 2906 water molecules and 10 ions (a),
solvated with 1380 methanol molecules and 10 ions (b).
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Figure 3S: The backbone RMSD of the dipeptide for solvated with 2906 water molecules and 10 ions (a), solvated with 1380 methanol molecules and 10 ions (b).during a 1
ns NPT production simulation.
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